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Instructions to Candidates

e Write your name, admission number, class and signature in the spaces provided at the top
of the page. This paper consists of two sections; A and B.
Answer ALL the questions in the spaces provided.

o
e Mathematical tables and electronic calculator may be used.
e All working MUST be clearly shown.
e This paper consists of 11 printed pages.
e Candidates should answer the questions in English and check to ensure that no question(s)
is missing.
FOR EXAMINER’S USE ONLY
SECTION QUESTIONS MAXIMUM SCORE CANDIDATE'’S SCORE
A 1-10 25
B 11 10
12 11
13 13
14 09
15 07
16 05
TOTAL SCORE
80
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SECTION A (25 MARKS)
Attempt all the questions in the spaces provided.

1. Define mechanics as used in Physics (1 mark)

Shudy.of. moben..of bodies nander. M.
RO RV TN T A /Tl S——————

2. The mass of an empty density bottle is 15g and 60g when full of oil of density

0.8gcm-3, Determine volume of water that would fill the density bottle completely.
(3marks)

Masc of oud = 6@3_|§j
: %53 / : Vﬁ{uM=5615w3 %
*—FS‘ﬁ /
G'g

3. Give the molecular explanation of surface tension

‘-\
7 Molecules

Water

(2 marks)

/

Deep. in.tae. kgud.). molecules howe a net

2.068... Q(f- _Z_Q)'Q ‘/\,LL,Q . MO‘QCLLp\f,;{ B g#—ﬂ:g §M“f€t(_q
L“’““ Ferne MO‘ew‘QJ GW\M c.rde Wen e Rxpenene

Q't/ A Ao .
n h}ll\e\,allagram b’Sﬁ;\(\cﬁlows a ﬂaskﬁh common salt and water. The adjacent
diagram shows the same flask after it has been shaken and the salt has dissolved.

State the purpose of experiment and explain what is observed. (2 marks)

Initial level

Final
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b) A drop of milk when carefully put in a glass of water turns the water white after
sometimes, explain this observation

s ade

(1mark)
w@‘r%%gcblffu@ﬁn%vwﬂ

5. The figure below shows two glasses of different thickness

.

Thick
walled —l
glass

_ Thin
walled
glass

Hot water/ —

Hot water was poure;i in both glasses. State and explain what observed. (2 marks)
Thade. eune will break ) fhfs (3. beaise,

apees....conduder

. C...04 heal benc  heof cleec
AO T (QGLch out-er
6. The diagr.

am below shows a heater mmersea in water in a test tube coated with
uniform layer of candle wax

a) State and explain the observation after the switch is closed. (2marks)
Nox. hear the dop il melt. dut b

"ggwwedﬂonwktbwwﬂxC‘DWMWM@JDHHD*
meth because Waker [ . poor...condudec. of heat
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b) 1’\ll\ﬂi— Qb&aNOVLUL Gg,\mﬁe_; V\)OML'O[ Lﬂ{ qu& IT
wWater vas replaced  wath wercury. ClmE)

All the wWax on tho tesh fube avdl melt
\E‘&'fl/\ﬂ#\. 4\ J[mfﬁ’af /ttrjfu’-ﬂtﬁ.@»\ /‘kﬁf (D,’,L

e ter

3+ The —Flngﬁ below shows oo Ltgkf sheeks e,)c paper armngfo( as
AN A s ow N

A B

Explain the observation made when air is blown at the same speed at the same time

at point A and B. . (Zm'arks]
foper move aport. luersase . velodly

N o part.
9. Tge figure below shows a gtaph of Force against extension of two springs made
from different materials

4

A

\NJ@2104

B

=
extension(m)

a) Compare the spring constants of the spri;?s above (1 mark)
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11.a) The figure below shows part of a scale of a vernier caliper w

0.0

Qlﬂcllm_j 5 O +8XO Ol A‘L/"\,LDJ r@ad}wxﬂ ggg

SECTION B (55 MARKS)

Attempt all the questions in the spaces provided.
ith an error of

3cm. What is the actual reading? (2 marks)

5 6
|JlII|IIIIJIHIIL
IlII‘IIII'

0 10

J_c'f‘a,f Yegqhvﬂ 5 O g M erinasnssenasannanas 54 65611/\ l/
b) Inan experiment to estimate the thlckness of an oil drop of diameter 0.1cm
spread onto a circular patch of diameter 10cm.
i) Determine the volume of the oil drop 4 (2marks)
s 0000886 ..
= ‘sz» '+U‘(9 os) .. V 5 14>< 19, L’L C""B '/..
ii) Calculate the area covered by the oil patch _— (2marks)
R e A e S0 - AR
L ;41%5
iiij  Determine the thickness of the oil molecule (Zmarks)
t=l ] dss2kelr
A #8/ Iy
E?X 1o M v
iv) State one assumptlons made in c(iii) above (1mark)
—The... oil FaJd i 9""?-; . nole *tlb.,u:lc,(mo molaﬁu)
— The... o Q’@vof i PC/V:ﬂfd‘ SF(M
v) State one possible sources of errors in this experlment (1mark)

Moot o diawele o edl WP/B -

Mewwm ok i el @r{‘ ’Q

State Pascal’s Principle of transmission ofpressure in liquids (1mark)

12.
P{ngré’, QE lb@c; Gj ong, naxt. }V\. /?,(quuc?s L.f m&—d{’[}qmmﬂr{ed
e,quuﬂ’i?ﬁ aM §t1}LY ocwh O’HM Qmo;{d MMM(
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b : .
) The figure below shows an instrument used to measure atmospheric pressure
State with a reason the modification that would be required in a similar set-up if

mercury was to be replaced with water (2marks)

cm

e—a—3l

mercury

\\\\L\ Y

fAY\ Jev J[‘LL[OE/ 1/\)631«.14 LQ,Q YQCi’ULll“Qd

nQS Rhaan A RS ARYE ovie o lone "Eéfum

C)ie barometric height of a town is 640mmHg. Given that the standard

atmospheric pressure is 70cmHg and density of mercury is 13.6gcm’3, determine the

altitude of the town in metres (density of air = 1.3kgm?) (3marks)

b\?ﬂ =.(3.....

VALY CTok ARSI V\.N 37“0

(DD
1/\ = % ‘ b = —-
c) 1 —Tquf&p—[hat affect the moment of a force (2marks

— Magnitude of. dore. applad Ko
. PUPQV\OQIOUL(QF OLIJ"QVICQ E?we,eq e —f‘or‘(& 13 F Ivoted

ii) An aluminum beam 5.0m long and whose mass is 200g is suspended by a steel

cable from a concrete beam and pivoted on a stool pole as shown below

L = d J—

Concrete
\ Steel beam
T /] = cable
Aluminium
3em Sl 2cm > beam
1 _— _— — _— |
. .\
Steel pole
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Calculate the tension T in the steel cable (3marks)
()%_?_:, =hE <320 0

[00 el {'DD 'O-D.U-.---..- e BeE BEE EEGEEE EEE AES RGN AES SSH SON NES EEE SRS RGN ONEE sssmssussuan

--.uu----l‘-i:.; R-X D S‘ P ——————— PP PR T LY TR TR T LIEEC Ll
LT TTETT PTTR T rTm 3 sasmssmans

T 333314

b) A body is projected horizontally at a velocity of 120cms-! from a cliff 90m tall

Draw a displacement-time graph to show the motion (1mark)

" -

Displacement (m)

Time (S)
c) Calculate
i) The time taken to hit the ground (2marks)

S=zat 102 gt

he horizontal range. (2marks)

=
—3

ENECEYECN
A= B0R8.M.
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d) A stone is whirled with a uniform speed in horizontal circle having a radius of

12cm. It takes the stone 9seconds to describe an arc of length 6¢m. Calculate:

L. The angular velocity L (2marks)
4:_ ?....|;z.x..q ...............................................................
TFTL— C,} 5. 556)(!9 mols
1. Llnearveloc1ty of the stone (Zmarks)
V.= 005556 %1%,
\/ — 0 006667mls.
L. Its periodic time T (2marks)
0 =L A =0 1 Y—
w --------------------------------------------------------------------------------------
Ly
.o..05556 ..........................................................................................

. 14. (a) State N\fmnszn% of%on Ho mﬁ. o+ cﬂ@ o 1néa£1(—r‘k)MDme
o Joodd.. vtcttg o Honad. e
Csz AN nj PLQC& I ‘ﬂﬁl celvccf\an

(b) A bus gfmass ZOOOkg mltlally moving at 20ms! is brought to rest overa

dlstance 0f40m Determine the force required to achieve this. ( 3marks)

. @o) P F m o

...........................................................

Tt g | FraeeaxCa)

-$ba = oo ] F':'fOOOO’\/

-4 ~&0

e m)

(c) A mason uses six wheel pulley system to raise stones to a storey building for
construction. He raises a weight of 3000N through a vertical height of 5Sm using
the machine. If the mason pulls using an n effort of 500N, calculate;

i) The velocity ratio of the pulley system. (1 mark)

B £ A S N
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(2 marks)

ii) The work done by the mason.

Bictanse. Moved by drs effor = G X &. :zom
Wek dene | = EGoa: % B, 8R0S e
....... [/;

\

EeEReR. 30 . 15,0001 .. pood.
i) The useful work done by the pulley system. (2marks) .
SAEOL. Wk done. 2. Lo el X ASIARIR e

be raised(2marks)

ey R R

::_-——-—q_A}‘chle Y. 1vav\rl4’\/%

(b)A 200g mass of ice at -20°C was slowly heated by an element

15. () State two ways in which the melting point of a substances can

heater of power
. 30W. The figure below shows the graph of temperature against time

A

100 H

—- e~ vILN TiMe.

02}
o

T
T

o
o

)

Temperature °C

N
o

T

T

|20

Use the values given below to calculate the time in minutes corresponding to;

i) The line QR in the grap }peczf ¢ latent heat of fusion is 353000Jkg-1) (3marks)

wt 0K REEO00
2880
@2022 KASSU Joint Examination t_"_,,ég_——é—— Physics P1 Page 10 of 11

Scanned with CamScanner



The line RS in the graph lahel the ' 1imr axes-with-suitablevalues-and-
: . . . 2%25%9 (1mark)
units (specific heat capacity of water is 4650]kg-1k-1) B

....... Pt:chS\f

....................................................................

L= TR0 j«t—ﬂ \gm Tl [smallay

ark
c) Calculate the specific heat ca acity ofice | (1mark)

.............................
..........................................................

i d
b) A solid of mass 100g and density 2.5g/_ch3 weighs 0.5N when total?;ls:::;;l{ese;ge
in a liquid. Determine the density of the liquid.

vel = Macs of Aaquid = O LN

AV =4 Wsreiituy - MOUereRes SRR REU IS S =

| (=2 =005t T80 g
................. D= I VR R 2
| —;_ = 2 kL O

.............. .....?\-:..S--...IB.... ...‘.-.......‘f..z...‘(gw/.;-.....1...........}f..:j-.\..'..l.g:.9.\..(:)."..? Z'.lSDKﬂ-'m
(\é]ﬁ(l‘he:?ig re k)cerﬁ)w hows a burning canqc-ile,w ightedfﬂ';ﬁ;‘l’e—s's‘ﬁmn

i dle burns for sometimes.
upright in water. Explain what happeps after the can  prarks)

Candle

Water

A< candle bums B aedght ool Crs .

J R ST TLE LI R XTELL] nransnn . gesesassernmisennnny e R RLEELE L LE L LR LR bbb
Fooc s T T LLE LTI ] . .

THIS IS THE LAST PRINTED PAGE

[ page 11 of 11
@2022 KASSU Joint Examination Physics P1 g

Scanned with CamScanner




